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(BEWARE OF NEGATIVE MARKING )

In the process shown in figure, for helium, the
heat supplied to changing the state from (P, V)
to (P, V) :-

N

x 10° N/m?

P=
—_ N W

1234
Vinm—

(1)7.5 x 10° joule (2) 30 x 10° joule

(3) 12 x 10°joule (4) 6 x 10°joule

If the temperature of a hot body is increased

by 50% then the increase in the quanity of

emitted heat radiation will be :-

(1) 125% (2) 200 % (3) 300% (4) 400%

A certain amount of an ideal gas is enclosed in a

vessel. If undergoes a process such that pressure

varies with temperature as shown in figure. Ratio

of density of gas at A to that of B is :-

sz' ]:3
pP
—— I
T—s
(H2:1 2)1:2
3 4:1 @ 1:4

The coefficient of thermal conductivity of copper
is nine times of steel in the composite cylindrical
bar shown in the figure. What will be the
temperature at the junction of copper and steel :-

100°C 0°C
() Copper | Steel ()
N 18 cm " 6cm
(1) 75°C  (2) 67°C  (3) 33°C  (4) 25°C

Two gases A and B having the same
temperature T, same pressure P and same
volume V are mixed. If the mixture is at the
same temperature T and occupies a volume V,
the pressure of the mixture is :-

(1) 2P 2) P (3)P/2  (4) 4P

1.

[OoioIoOitoOnoonu oo Mmoot oo
0oiiZe,, v, Uip,, v DOMODOO0IO0000IOIO
giorocd

N

x 10° N/m’

P=
—_ N W

123 4
Vinm—

(1)7.5 x 10° joule (2) 30 x 10° joule

(3) 12 x 10°joule (4) 6 x 10°joule

UI00o00o0olooolDonNolso% Uidiomorooion

00d10igiooiioiooonoionoroonoron

00000 -

(1) 125% (2) 200 % (3) 300% (4) 400%

0 A A

i D0OODooDmDmimiboiD roonoono

oA 000 0000004 oioior o oooi

OL-

B

— T

T—>

(H2:1 @1:2

34:1 @) 1:4
0

UNIDmyinIooiooomo D Oomond
UIooomon.-

100°C 0°C
() Copper | Steel ()
N 18 cm " 6cm
(1) 75°C  (2) 67°C  (3) 33°C  (4) 25°C

0IDMIA DIMB OOomoddor, UOimole 0o
R O A
Qoo DOnide OMoNIdnodv oood
Io0IoUiroluU NI oIoooooroDomr Um
v Uli0o0iourimooononodon:

(1) 2P 2) P (3)P2  (4) 4P
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6. A larger cylindrical tank has a hole of area A | 6.  UUIIDIOIIIOIOIOIDIA DDO0IOTOOIOMOO
at its bottom. Water is poured in the take by a JONO00I00IOIODO A MM IoOmd T
tube of equal cross-sectional area A ejecting MIOTOMNCOCT0y OO0
Zit‘?rrhztwt:fersf;:fig't ;:f;ﬂ;‘wﬂl reepon rising (1) D0I0I0ON D000 D000 o000
(2) No water can be stored in the tank . 2 DD'DHDHD"DZDJDDDDDJDDJDH
(3) The water level will rise to a height 2_g and 3) DDZDDDUD:;—g Oilionomooonomo
then stop 0ol
(4) None of these (4) D000OI0OMD000D
7.  The change in state of a gas from A to Bisshown | 7.  UNMOIOOIIIOIEO00A OB JOO0OTTI00I!
in figure. The work done in the process is :- o0muoboitnooroorobon:
E k
Z3 Z3
=P =2
Tt it
=¥ ~
(1) 6 x 10° J (2) 7 x 10° erg (1) 6 x 10° J (2) 7 x 10° erg
(3)7 x 10°J 4 12x10°7 (3)7 x 10°J 4) 12x 1057
8. A 20 N metal block is suspended by a spring | §. 20 N 000000000000 00000
balance. A beaker containing same water is D000 00D OO OO D000
placed on a weighing machine which reads DOm0 0N 040 N MO0 0000 0n0;
40 N. The spring balance is now lowered so
that the block gets immersed in the water. The HDIomOnooomnDImooinDnoobno
spring balance now reads 16 N. The reading UODOIOoDOIOmomOnhe N DO HIDIOHON0
of the weighting machine will be :- Omoooioooomn.-
()36 N (2)60N (3)44 N (4) 56 N (D36N (2)60N (3)44N (4) 56N
9. A gas mixture consists of 2 moles of oxygen | 9,  ODIMIO0IOONIONDIT 002 D000
and 4 moles of argon at temperature T. 4 D00 OO0 OO MO 00000000
Neglecting all vibrational modes the total MO OON0 OO0 OO 000
internal energy of the system is:- (1) 4 RT (2) 15 RT
() 4RT (2) I5RT (3)9RT (4)11RT (3) 9 RT (4) 11 RT
10.  Water is flowing continuously from a tap having | 19, OT00000I008 x 10-* m 0100000000700000
an internal diameter 8 x 10 m. The water velocity 0 ON00I0I00Nomo0i0 00 000000000000100
as it leaves the tap is 0.4 ms'. The diameter of the 0.4 ms! DMO0INONON00I0020 cm DI0N00I0
water stream at a distance 20 cm below the tap is:- 0I0u--
(1) 9.6 x 10° m (2)3.6 x 10° m (1) 9.6 x 103 m (2) 3.6 x 103 m
(3)5x 107 m (4)7.5 x 10° m (3) 5% 10° m (4) 7.5 x 103 m
1. 1 ke of diatomic gas is at a pressure of | 4y [OINIININOIOOIO0N (0000 8 x 10* N/m?
8 x 10* N/m?. The density of the gas is 4 kg/m°. . ) )
What is the energy of the gas due to its thermal DDA MO VNG Jeg/m? DIOUTOOD
motion? aiIggoonommonoomoonore
(I)3 x 10*J 2) 5 x 10*7 (1) 3 x 10*J 2) 5 x 10*7
3) 6 x10*17 4)7 x 10* ] 3) 6 x10*1J 4)7 x 10*]
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A thin liquid film formed between a U-shaped
wire and a light slider wire supports a weight
of 1.5 x 1072 N. The length of the slider is
30 cm and its weight negligible. The surface
tension of liquid film is :-

Slider

wire -
(1) 0.025 N/m (2) 0.0125 N/m
(3) 0.1 N/m (4) 0.05 N/m

If C, and C,, denote the specific heats of
nitrogen per unit mass at constant pressure and
constant volume respectively, then :-

2)C, -C 5
28 @6-C=1
3)C -C,=R 4) C,-C,=28R

The maximum load a wire can withstand with

R
(1)C,-C, = ==

out breaking, when its length is reduced to half
of its original length will :-

(1) Be double

(2) Will becomes four times

(3) Will remain same

(4) Be half

Two vessels having equal volume contain atomic
hydrogen at one atmosphere and atomic helium
at two atmospheres respectively. What is the ratio
of rms speed of hydrogen atom to that of helium
atom if both the samples are at same temperature:-

1 1
Opn @ 20 2 B2

Modulus of rigidity of ideal liquid is :-

(1) Infinity (2) Zero

(3) Unity (4) None of these
N moles of a monoatomic gas is carried round
the rectangular cycle ABCDA as shown in the
diagram. The temperature at A is T . The
thermodynamic efficiency of the cycle is :-

Vo
2P, | B C
A y
P, AL « 1D
v, .oV
(1) 15% (2) 50% (3) 20% 4) 25%

12.

13.

14.

15.

16.

17.

000u Ol00ooioooomobolnma
Ui0ID0r0DIoo0IootIOoo.s x 102 N 0T
0 A A
30 cm UIIMO 0TI 0000000 OMNIOOOIO!
(i000onIooD.-

Slider

wire -
(1) 0.025 N/m (2) 0.0125 N/m
(3) 0.1 N/m (4) 0.05 N/m

dioic, Uifc,, doonnodiilomooon0no0iod
R A A
QIootro0oomaE.-

2) C C—5
28 2 €, - V7T 14

3)C,-C,=R 4)C,-C, =28R
8
UIoInummiiNOooDinioomaog
[Omoooooor oo ormlo0.-

(1) 0000000

(2) Unoononomoe

(3) O0ID0ooan

(4) UII0nomoa
OoniUDoooiitoniibotoioib it
Ooofi00iomuDimonooddminoootroog
[DUoommooomoo oot OouOoiornd
WU i
QioibinooninonoL:

R
(1)C,-C, = ==

(1) % @ 2 3) % 4) 2
O

(1) O () U0

(3) 00 (4) [0000I0ODIoOD
[oOiiUnboiobOmoniodomdiN Oronos
giotiniliioolABCDA UIODDIOTOION DI
[INA O0IDI00I00T, mMOOmMiaooioma;nmo
OL-

Vo
2P, |- B C
A y
P, AL « 1D
v, .oV
(1) 15% (2) 50% (3) 20% 4) 25%
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A sound source emits waves of wavelength 60

cm. This source is moving towards north with a

1
speed of 5 th of the speed of sound. The apparent

wavelengths of the waves in the north and south
directions of the moving source will be-

(1) 72 cm, 48 cm (2) 48 cm, 72 cm
(3) 60 cm, 75 cm (4) 75 cm, 60 cm
Which of the following are not related to
adiabatic process :-

1HAQ=0

P
2) p_y = constant

(PeVe — P V)

GW=""01"p

(V)
(4) W = 2.3026 RT 108y, k; J
1

Two trains A and B are moving in the same
direction with velocities 30 m/s and 10 m/s
respectively, B is behind from A blows a horn
of frequency 450 Hz. Then the apparent
frequency heard by the observers (velocity of
sound) is 330m/s :

(1) 425 Hz (2) 300 Hz

(3) 450 Hz (4) 350 Hz

In the condensation of a gas the mean kinetic
energy (K) and potential energy (U) of
molecules change; thus :-

(1) K decreases, U decreases

(2) K increases, U keeps constant

(3) K keeps constant, U decreases

(4) K keeps constant, U increases

A uniform rope of mass 0.1 kg and length
2.5 m hangs from ceiling. The speed of
transverse wave in the rope at upper end and
at a point 0.5 m distance from lower end will be :
(1) 5 m/s, 2.24 m/s (2) 10 m/s, 3.23 m/s
(3) 7.5 m/s, 1.2 m/s (4) none of these

18.

19.

20.

21.

22.

0O000I0000I0leo DOMIOIDUMIOMOIOIOIDND
Q000 mpoIondooonmoinitirahomiona

DH:% 0i0i0InIoiioniumondioidioioooan

Qoo oomigiboinoonio Ioooioomioiioy

(OoioCooron
(1) 72 cm, 48 cm (2) 48 cm, 72 cm
(3) 60 cm, 75 cm (4) 75 cm, 60 cm

OiDDItILIOim D Omoborboooonoa oo
0L+
1HAQ=0

P
2) p_y = constant

(PFVF _PIVI)
GW=""01"

VF
(4) W = 2.3026 RT 108y, k; J
1

OIioDOoo A O0B 30 0000010 DIDDIOIDO
0DOMIOIIDOIDIIU M, A DIOIDIOA Miof
N o A S A A
goioodoo ooy L ogoroioononno

Ov.,.= 330 00000
(1) 425 Hz (2) 300 Hz
(3) 450 Hz (4) 350 Hz

OUDmUOIbINOrioomoiooik) Lo
[IIntoioonuy diiuoooes

(1) K [OIOG o Tooron

(2) K 00000U 000000

(3) K (0000000, v ToOmod

(4) K 0001000 U Do0mod

0.1 10070000002, 5 O 000000 DODoOn
00ioigoonimiiouooooooboiooaio oo

[000000100000.5 00 O00T0C0DDOOIO:
(1) 5 m/s, 2.24 m/s (2) 10 m/s, 3.23 m/s
(3) 7.5 m/s, 1.2 m/s  (4) OO
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An ideal gas goes from state A to state B via three
different processes indicated in the P-V diagram:-

N
1

A

—

rd

vV—>
If Q,, Q,, Q, indicate the heat absorbed by the
gas along the three processes and AU, AU,
AU, indicate the change in internal energy
along the three processes respectively, then :
(D Q, =Q,=Q, and AU, > AU, > AU
(2)Q,>Q,>Q, and AU, > AU, > AU
(3)Q,>Q,>Q, and AU, = AU, = AU
4 Q,>Q,>Q, and AU, = AU, = AU,
Air is blown at the mouth of a tube (length equal

3
3
3

to 25 cm and diameter equal to 2 cm) open at both
ends as shown in the diagram. Velocity of sound
is 330 mtres per second. The sound emitted by
the tube will have all the frequencies in the group-
(Ignore end correction) —

(1) 660, 1320, 1980 Hz

(2) 660, 1000, 330 Hz

(3) 302, 664, 1320 Hz

(4) 330, 990, 1690 Hz

A ball A has twice the diameter as another ball B
of the same material and with same surface finish.
A and B are both heated to the same temperature
and allowed to cool radiatively; then:-

(1) rate of cooling of A is same as that of B
(2) rate of cooling of A is twice that of B
(3) rate of cooling of A is half that of B

(4) rate of cooling of A is four times that of B
Two tuning fork when sounded together produces
5 beats per second the first tuning fork is in resonance
with 16.0 cm wire of a sonometer and second is in
the resonance with 16.2 cm wire of the same
sonometer the frequencies of the tuning forks are:
(1) 100 Hz, 105 Hz

(2) 200 Hz, 205 Hz

(3) 300 Hz, 305 Hz

(4) 400 Hz, 405 Hz

23.

24.

25.

26.

0OIUoe-v DIDOINIIInooomrooo
Uo0ITA 0i000s 00IOIOIOT OO0y

N
1

A

- N

rd

vV—>
0lilQ,, Q,, , DidlDODIIOIOIN0OIOa ool
U00NIIUoiNNmiMAY,, AU, AU, D000
giglotoioniorooodoomoe.
(1) Q = Q = Q, ITAU, > AU, > AU,
(2) Q, > Q, > Q, AU, > AU, > AU,
3)Q, > Q, > Q, IITAU, = AU, = AU,
4 Q,>Q,>Q, Il AU, = AU, = AU,
OImoo oI oimouOmuonaonni= 25 0O
[0N0oi0I= 2 00101000 0InDI0iood Oiolomom
QOIDmIonIDonorIoin D oo omn
Qioiioinioo

Qlooioonoooitill =—
(1) 660, 1320, 1980 Hz

(2) 660, 1000, 330 Hz

(3) 302, 664, 1320 Hz

(4) 330, 990, 1690 Hz
OUIDIDID IO ONIMoA Uit mOorDomron
00000B OIUODIDONDMA O tondrooo
0 A A
Omm:-

(1) A Ul0I000IOIOB Ooomomogd

(2) A UIIID0O0I0ON0Is Oiooonod

(3) A UIIID0O0I0IODe Oromrod

4) A UIII00O0IOT0Be Qiomoonod
0 A O A
5 00000ooomooioioimoonobbogro oo
gill0016.0 OO0 [OOOIDOOOOOODOOIDDOCN0D
16.2 U0 00O IIOOOI0INDD 0 OMDOmooi o oot
giioiooipmoibn

(1) 100 Hz, 105 Hz

(2) 200 Hz, 205 Hz

(3) 300 Hz, 305 Hz

(4) 400 Hz, 405 Hz
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One end of a copper rod of length 1.0 m and
area of cross-section 10 m? is immersed in
boiling water and the other end in ice. if the
coefficient of thermal conductivity of copper
is 92 cal/m-s-C° and the latent heat of ice is
8 x 10* cal/kg, then the amount of ice which
will melt in one minute is :-

(1) 9.2 x 102 kg (2) 8 x 10° kg

(3) 6.9 x 107 kg (4) 54 x 107 kg
At the room temperature the velocity of sound
in O, gas is v. Then in mixture of H, and O,
gas the speed of sound at same temprature:
(1) will be less than v

(2) will be more than v

(3) will be equal to v

(4) nothing can be said

In a room where the temperature is 30°C a body
cools from 61°C to 59°C in 4 minute. The time taken
by the body to cool from 51°C to 49°C will be :-
(1) 4 minute (2) 6 minute

(3) 5 minute (4) 8 minute
Velocity of sound in air is 320 m/s. A pipe
closed at one end has a length of 1 m neglect-
ing end corrections, the air column in the pipe
can resonante for sound of frequency.

(a) 80 Hz (b) 240 Hz
(c) 500 Hz (d) 400 Hz
(1) a ) ab
(3) ab.d ) ad

Two spheres of the same material have radii 1 m
and 4 m and temperature 4000 K and 2000 K
respectively. The ratio of the energy radiated per
second by the first sphere to that by the second is:-
H1:1 2)16:1

B3)4:1 @1:9

Frequency of tuning fork A is 256 Hz. It
produces four beats/second with tuning fork B.
When wax is applied at tuning fork B then 6
beats/second are heard. Frequency of B is :
(1) 250 Hz

(2) 260 Hz

(3) 262 Hz

(4) 1 & 3 both may possible

27.

28.

29.

30.

31.

32.

000000 0000 o= m? UOOO0IOIOMOOO
UiodminidroonUIonrooyonom om
0 o m a E
0I000N00AI92 cal/m-s-C UIMOOIOTOO0
UIioiiiooous x 104 cal/kg OITIIOONDIOOCO

quiguiomonooitoromoonoLk

(1) 9.2 x 1073 kg (2) 8 x 10° kg

(3) 6.9 x 1073 kg (4) 54 x 107 kg
0 A W {1 VAN 1
JOOiDrOioibiOotoiiIomorooobd
id:

(h) v Uigoio

(2) v Ulomonooo

(3) v Uldrooom

(4) UOIIIO0DOOIoooOo

30°C J00NIONHIOOmD, DUo00iOroe 4 00O
le1°C Uis9°C NIUIOMIINIIISs 1°C Ol49°C UL
0

(1) 4 minute (2) 6 minute

(3) 5 minute (4) 8 minute
U000000INIONOd 320 Oiid OmMoOnooolomIon
1 1 10

Qoorooomon

O LA

(a) 80 Hz (b) 240 Hz
(¢) 500 Hz (d) 400 Hz
(1) a ) a, b
(3)a, b, d ) a, d

OUoiDCotnDnoonoooroiol! m 00T 4 m
(IIMTO0O4000 K UIRooo K UMOOOIOIOIL!
quoipiproioiotooroibib oo oo oobw
iR

H1:1 )16 : 1

3)4:1 @1:9

0000000 A OIOKIE 256 D0O.0MIOOCLOIOOC
(000 B UIDIOI0OMINN [0oRICi0LotiDDio0nNTT
0B DO OINOIOOMOUIOUINIT » (OODODODOOO
OUl0I000Mms OOomoed

(1) 250 Hz

(2) 260 Hz

(3) 262 Hz

(4) 1 03 Q0I0noooa

@D\D\D (000 0000 Key Fining 00 00000000 0000 I:IDDDDD)
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A black body at a temperature of 1640 K has
the wavelength corresponding to maximum
emission equal to 1.75 p. Assuming the moon
to be a perfectly black body, the temperature
of the moon, if the wavelength corresponding
to maximum emission is 14.35 p is :-

(1) 100 K (2) 150 K

(3) 200 K (4) 250 K

A wave travelling in positive X-direction with
A = 0.2 m, velocity = 360 m/s and . = 60 m,
then correct expression for the wave is

- x
(1) y = 0.2 sin [2n (6t + 60 )]
: *
(2) y=0.2 sin [rn (6t + 60 )]
- x
(3) y = 0.2 sin [21 (6t — 60 )]

- x
4) y =0.2 sin [n (6t — 60 )]

The figure shows the displacement time graph
of a particle executing S.H.M. If the time period
of oscillation is 2 s the equation of motion of
its SHM is

x(in mm)

10 /\
VA

(1) x = 10sin(nt+ ©/3) (2) x = 10sinmt
(3) x = 10sin(nt+ w/6) (4) x = 10sin(2nt+n/6)
The force constant of spring A is greater than that

(9]

of spring B. If their lengths are elongated by same

amount, which of the following statement is correct:-

(1) the work done on A will be greater than that
on B

(2) the work done on B will be greater than that
on A

(3) work done on both the springs will be
equal, if their initial lengths are same.

(4) work done on both of them will be equal

33.

34.

3s.

36.

gOiOioiiidire4o K OI0OIOIDOI OO0
000000000000 .75 p UIDOI0D MAIoO:
QiooioinoiornonoooiobonnLmomooral
0 A A my W
000M14.35 w OD-

(1) 100 K (2) 150 K

(3) 200 K 4) 250 K
IOO0MIOIDOX-00IOoo0OIOoIImIIoon]

HI0I0IA = 0.2 0000= 360 DIOOIDIDOOOMD
A = 60 [N0MIC00I O O0nOmdodotrom

- x
(1) y = 0.2 sin [2n (6t + 60 )]
: x
(2) y=0.2 sin [ (6t + 60 )]
: X
(3) y = 0.2 sin [27 (6t — 60 )]

: X
4) y =0.2 sin [n (6t — 60 )]

0OI0I0I0DOOmID Moo Onomroiitioond
ginmoDof Do oooIoood
2 JO00IHmontoOr ool fldo tor o oo
0az-

x(in mm)

10 /\
VA

(1) x = 10sin(nt+ ©/3) (2) x = 10sinnt

(3) x = 10sin(nt+ w/6) (4) x = 10sin(2nt+ 7/6)
[I00IA OIDOI0o0HImoom doiooDmmooon!
Ui0nonoooIboonO oo O Mmoo
000

(@ 27 A O

(9]

i

(2) B UI0DI0OTIOOTIA OIXO0moiomoodima
i

) DO D OO on oMo Omed
Q0000000

(4) III0O0T00I OO 0UmOnoi
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The graph shows the variation of displacement
of a particle executing S.H.M. with time. We
inference from this graph that :-

A

3T
(1) the force is zero at time ——

4
T

(2) the velocity is maximum at time E

(3) the acceleration is maximum at time 7T

(4) the P.E. is equal to half of total energy at
T

time E
A mass m is suspended from a spring of length
¢ and force constant K. The frequency of
vibration of mass is f. The spring is cut into
three equal parts and the same mass is suspended
from one of the parts. The new frequency of
vibration of mass m is f,. Which of the following

relations between the frequencies is correct.

(Hf =31 @f =t

3) f, = 3f, @ f = J3f,

Two particles execute S.H.M. of same
amplitude and frequency along the same
straight line. They pass one another when going
in opposite directions, each time their

1
displacement is Etimes of their amplitude.

The phase difference between them is :—
(1) 30°
(3) 90°

(2) 60°
(4) 120°

37.

38.

39.

0000ODINI0DONy DI0TImoiTooiyOImooo
[O0IOIooImionOionimnoionUoUUiIm .-

A

INTER S,
—
A 4

3T ]
(1) DDD_T QoIDOI0ndiom

T
(2) 000 E]DD]DDHDHD[DDD]DM

(3) O00I71000000T0Imoo0rm

T
(4) 000 B OIIDOD OO OIOMIIonoo

0
00Im 000D O0DMIDIODOIOIK OloooiO
OoOOmmiooinIninmonioE, oomoool
Qi0ioIonoonnoIoiOidonit dld o toonod
Uorooooouoooanotid, dI00OIONMD
0ininIdnonoie, Dmoiomnronoorominmm
0o

(O f, =31,
3) f, = 3f,

Qf =1
4 f,= J3f
(OO0t orooU ool

UOIDooUDIN DO roorooormmo
godioootroooimoniltiroor0noidl

1 i R
NG QOTOOnOImoloOr oo onoo o

(1) 30° (2) 60°

(3) 90° 4) 120°

(Use stop, look and go method in reading the questiorD
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Two simple pendulums of lengths 1 meter and
16 meters respectively are both given small
displacements in the same direction at the same
instant. They will again be in same phase after
the shorter pendulum has completed n

oscillations where n is-

1 4
M @ 3

(3)5 4) 4

A pendulum is suspended in a lift and its period
of oscillation when the lift is stationary is 7,. What
must be the acceleration of the lift for the period

of oscillation of the pendulum to be 7,/2 ?

(1) 2g downward (2) 2g upward

(3) 3g downward (4) 3g upward

A man of mass 60 kg is standing on a platform
which is oscillating up and down with
frequency 2 oscillations/s and amplitude 50 cm.
A machine on the plateform indicates weights
of the man with respect to time, then the

maximum reading of the machine will be-

(g = 10 m/s?)
(1) 10 kg (2) 532.8 kg
(3) 10° kg 4) 10* kg

A system is shown in the figure. The time period
for small oscillations of the two blocks will be

[Friction is absent]

k 2k
m oo v | m

ST T T T T T T T T T 777

12/3_m 22/3_m
()nk ()nzk
323—m 423—m
() 2740k () 214 gx

40.

41.

42.

43.

0ionoraIoonoodrouomi 0ot 1000 oo
1e[0IIIMIIDOINIOMIO 000Dl ooD DOm0
OIDUIDIOIDUmoNniuOd» Dio0mDoidoo
Qinoooimioiiodommonomiimmi s DIOW
0i00-

1 4
W @ 3

(3)5 4) 4

] A A A RN
[ITODMooOIODooom, iMmonooomoa
QlomoomiT,2 0dio0dnioool 0o oo
oroan 2

(1) 2¢g LOIOTOT (2) 2g UOIIOTIOT

(3) 3g LIOIOTOT (4) 3g UOIIOIOT
00oUIo0ioominomitiitieoDDIMmOO
[00Inionoinomooruoooinuimnon
QIDIDITUIImOOI0oNRIDIoooIoordmg
500001II0mMOININOUOInIuononrotomoonn
gio00IOi oo oom i macr oo oonon o
QinoonIomo oy

000g = 10 DIOI0I0

(1) 10 kg (2) 532.8 kg
(3) 10 kg (4) 10* kg
[OOOINOOINOoomo OO OlDoiIOnoo
Qnooiooo
OUnomiom

k 2k

m oo v | M

ST T T T T T T T TTTTTTTT 777

121/3—”1 221/3—"1
(1) 2n A ()nzk
3) 2 3m 4) 2 3m
(3) 274 2% @) 27\ ek
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44. On a smooth inclined plane, a body of mass M is
attached between two springs. The other ends of
the springs are fixed to firm supprot. If each spring
has force constant k, the period of oscillation of

the body (assuming the springs as massless) is-

M 1/2
(1) 27{5}

. 172 _ZMg 1/2
3) 27{2Mgsm9} @ o }

(2) 2n T}

2

45. A particle is executing SHM according to
x = a cos ot. Then which of the graphs
variations of

represents potential

energy :

PE. /I /H

(1) @) & (III)

(2) dI) & (1V)

(3) @) & AV) (4) dI) & (I1I)

44.

45.

0Omnooomiooituondmiiv - Oi0oddr
0ooioou Do ioooio0umint ongiobomnao
O0I0INNO D DminnoIiDubriord
k 0IMI0000100 000 DI010dId
Qlognnoioionioruononom

(2) 2n T}

. 172 _2Mg 1/2
3) 27{2Mg2s1n9} @ o }

OooroiooInmIooonburonr ongonoroo
x = a cosot JII00I0NIIIIIO0OMOIOICID000DO:
[OI0OUIhIoiOodiy 00ro0nIodis)
dlofmOiotiorionnitodnoa

PE. /I /H

(1) (1) 007 (1)

) an 007 (1v)

3) () UL av) (4) (1) OO (1Imy

(10/37
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The correct increasing order of bond energy of the
following is :-

(DN, <0,<(Cl,<F, (2)Cl,<F,<N,<0,
3)F,<(Cl,<0,<N, #O0,<Cl,<F,<N,
Which arrangement represents the correct order
of electron gain enthalpy (with negative sign)
of the given atomic species :-
(I)S<O<C(ClI<F 2)0O<S<F«<(
B3)Cl<F<S<O 4HF<Cl<O<S
Match List-I Atomic Number of Element) with
List—II (Block to Which the Element Belongs) and
select the correct answer using the codes given
below the lists :-

List-I List-II
(Atomic Number of | (Block to which the
Element) element belongs)

(A) 24 €y p
(B) 38 (ii) f
© 49 (iii) S
(D) 59 (iv) d
Code :

A B C D
(1) ii i i iv
) iv il i il
3) ii i i iv
@ iv i i i

In which of the following arrangements, the
order is not correct according to the property
indicated against it :-

(1) Increasing size : AI** < Mg?* < Na* < F~
(2) Increasing IE, : B<C <N <O

(3) Increasing EA, : I < Br < F < Cl

(4) Increasing metallic radius : Li < Na < K <Rb
Which among the following factors is the most
important in making fluorine, the strongest
oxidising halogen :-

(1) Bond dissociation energy

(2) Ionisation enthalpy

(3) Hydration enthalpy

(4) Electron affinity

46.

47.

48.

49.

50.

(oroonoroooiodrtor oot
()N, <0,<ClL <F,
(3)F,<ClL <0,<N, (4)0,<Cl,<E,<N,
e~ UIIINIMOI0OMIDOIOoiorooromod
0L+

(2)ClL, <F,<N, <O,

(1)S<O<CI<F 2)0O<S<F<d

B3)Cl<F<S<O 4HF<Cl<O<S
00I-1 DlIo0IonioOroiiooarorgdi-n 0

[oIooiooIornimi oo troaa

List-I List-II
(rRo dk ijek.k (rko dk (ykd)

Pekd)
(A) 24 ) p
(B) 38 (ii)
(©) 49 (iii) s
(D) 59 @iv) d
Code :

A B C D

M i i i v
) iv i i i
(3) i i i v
@ iv i i i

0 T A A
Qoomr oo oo om

(1) U00D0O0OOD : AP+ < Mg™ < Nat < F
) 00000 IE, : B<C<N<O

(3) 000T00 EA, : 1< Br< F<Cl

(4) UUOTDOIOTTOOTMHO - Li < Na< K < Rb
HoIOmohmriOoiiiolooo
Oomi oo oniarbooom o

(1) DImiooodr ool
(2) Liooorods

(3) UOOmoooo
(4) e~ UL

(Take it Easy and Make it Easy )

N ot

—
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Match List-I (Element) with List-II (Valency
Shell Electronic Configuration) and select the
correct answer using the codes given below the

lists :
List-I List-I1
(Element) (Valency Shell
Electronic
Configuration)
A Ag @) 4d’5s'
(B)| Rh (ii) 4d°ss'
©] Pd |GiD)]  44'%5s°
M) Ru |(v)] 44!
Code :
A B C D
) i i i v
Q) iv i i i
3) i i i v

@ v i i i
Which of the following has highest ionic radius
(HF (2) B (3) 0 (4) Li*

1><] >

Twelve silicate units combine to form the above
structure. The formula of silicate is :-

(1) 8i,02 @) Si,05
(3) Si,,03° 4) 8i,03

P, reacts with O, in presence of N, to form

mainly:-
(HP,Oq (2) P,O,,
(3)H,PO, (4) H,PO,

Which of the following is true :-

(1) Conduction in graphite is anisotropic

(2) Number of C-C bonds in fullerine is 60

(3) Number of pentagonal rings in fullerine is 40

(4) Graphite is unstable than diamond

Which reaction is correctly, matched :-

()P, + NaOH — NaH,PO, + PH, ; oxidation
of NaOH

(2)H,PO, — H,P,0, ; hydrolysis
(3)H,S,0, — H,S,0q4 ; decomposition
(4)PCl; — H,PO, ; hydrolysis

51.

52.

53.

54.

5S.

56.

001 0lioDioRibinr Onddl-n QroomoIdodno
Do onoonomm

List-I List-I1
(rko) (h;kth dk'k e
folzkl)
(A)| Ag @) 4d’5s"
(B)| Rh (ii) 4d%5s'
(©| Pd (iii) 4d"5¢°
(D) Ru (iv) 4d"5s"
Code :

A B C D
() i i i v
@) iv i i i
3) i i i v
@ iv il i i
[DoonIoiOiroooLiboniioniooOmmonig
(DF~ () B* (3)0* (4) Li*

15<] 15<]

12 (000000000 D0 O OO0 o0
O 00000D:-

(1) Si,0:2 ) Si,05

(3) Si},05° 4) Si,053

p,, O, UIOMIN, OIO000I0i00000000000I0:

(1)P,0,
(3)H,PO,
Io0iOnOimmOool tiooonk

(1) Graphite Ul DI000NIOTOOMILIO0OTOM

(2) Fullerine (C,) UlC-C DIIIDIDIOI60 OM

(3) Fullerine UI00IOI0I000N0I40 O
(4) Graphite, diamond UJI000T DI 00O O

(0000l 0T onioolonm

(1) P, + NaOH — NaH,PO, + PH, ; NaOH [I!
goomm

(2)H,PO, — H,P,0, ; O0IO0N

(3)H,5,0, — H,8,0, ; 00000

(4)PCI, - H,PO, ; OOIO0N

(2) P,0,
(4) H,PO,
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Which has tendency to form polymer.
(1) BCI, (2) Be(OH),
(3) Ba(OH), (4) Ca(OH),
Na[B,;0,(0OH),] has

(1) All triangular untis

(2) One triangular unit

(3) All tetrahedral unit

(4) One tetrahedral unit

Hardness in water can be removed by
(I)Na,B,0,.10H,0 (2) Na,P O
(3) Both (4) None

A diatomic molecule has a dipole moment of
1.2D. If the bond distance is 1.0 A what fraction
of an electronic charge exists on each atom?

(1) 25% (2) 33%
(3) 45% 4) 75%

Which decomposition is different from other :-
(1) Ag,CO; —2— (2) Mg,CO, —2

(3) Li,CO, — (4) PbCO, —2
What is ZHCH in cyclic C;H.?

(1)109°28' (2) 114°

(3)180° (4) 60°

Which of the following will disproportionate in
water :-

() Cl, (b) P,

(©) P,0, (d) Na metal
1)abé&c 2)a&b

(3)a, c,d (4) only b

The thermal stability of II gp carbonate is :-

()BeCO,; > MgCO, > CaCO,; > SrCO;4 >
BaCO,

(2)BaCO; > SrCO,; > MgCO,; > CaCO,4 >
BeCO,

(3)BeCO,; < MgCO, < SrCO; < CaCO,4 <
BaCO,

(4)BeCO; < MgCO, < CaCO; < SrCO;4 <
BaCO,

The extent of hydration of Li* is a & extent of

its hydrolysis is [ then.

DHaoa>p

B a=p

2) a<B
@Da<p

57.

58.

59.

60.

61.

62.

63.

64.

65.

0ouOiiooioriimIonnmd

(1)BCl, (2) Be(OH),

(3) Ba(OH), (4) Ca(OH),
Na[B,0,(OH),] D100

(1) O0II0bnuonOoo

(2)000M000IdmUoO

(3) 000 UDOnIoOmo

(4) UDI00I00DIOODO
DUIOIO0Iortninrooodmoooonooom
(1)Na,B,0,.10H,0  (2) Na,P,O,,

(3) 0 (4) 0000
0 N oA D R RN

OIOnoo0mi1.o A OMODOI0O0000000 00000000000e-
QD0 OmoInonon

(1) 25% (2) 33%
(3) 45% 4) 75%

I
(1) Ag,CO, —2> (2) Mg,CO, —2

(3) Li,CO; —> (4) PbCO;, —2
O0leH, UlzHCH DOIOOO

(1)109°28' (2) 114°
(3)180° (4) 60°
OOioionooononononn.-

(a) Cl, (b) P,

(©) P,0, (d) Na metal
1)a,b&c 2)a&b
(3)a, c,d (4) only b

O S A A A O

(1)BeCO,; > MgCO, > CaCO; > SrCO; >
BaCO,

(2)BaCO; > SrCO,; > MgCO, > CaCO, >

BeCO,

(3)BeCO; < MgCO; < SrCO,4 < CaCO; <
BaCO,

(4)BeCO; < MgCO, < CaCO,4 < SrCO;5 <
BaCO,

Li+ LI00000I000N0e 0I0DOONDOIONONO

g D10

(Ho>P 2 a<B

Ba=p 4) a<p
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Give the correct statement :

()In Li*(aq) and Cs*(aq), Li* will have
relatively higher coordination number

(2)TIIL; can't exist due to inert pair effect

(3)PbO, is stronger oxidant than SnO,

(4)Metal sulphides are more ionic than oxides.

In the molecule IFs, I-F bond is formed by the
overlapping of —

(1) sp3d?-s (2) sp3d2-2p

(3) sp3d-2p (4) p—p (Colateral)
Which of the following pairs of molecule have
bond order three and are isoelectronics :—

(1) CN7, CO (2) NO*, CO*

(3) CN, 0, 4) C, 7%, 0,7

Which of the following is wrongly matched :-
(1) WC - interstetial carbide

(2) B,C — Ionic carbide

(3) Mg,C, — Allylide

(4) Be,C — Methanide

The incorrect statement is :-

(I) CH, has six bond angles of 109°28'

(2) CIF, has one bond angle of 120°

(3) NH, has three bond angles of 107°

(4) TF, has ten bond angles of 90°

Which of the following pair of compounds have
all three type of bonds :-

(1) K,[CuCl,], KCN (2) NH,OH, CaCoO,
(3) KNO,, (NH)),S (4) NaNO,, ZnCO,
Which orbital is not involved in the formation of
PCI; molecule :-

(1) s (2)d, 3dop @,
Dative Bond is present in :-

(1) KI, (2) KNO,

(3) KHF, 4) All

Which of the following compound gives acidic
and basic oxide on heating :-

(I) Na,CO, (2) MgCO,

(3) ZnCO, (4) PbCO,

Correct solubility order of compounds is :-

(1) BeSO, > MgSO, > CaSO,

(2) Be(OH), < Mg(OH), < Ca(OH),
(3) NaHCO, < KHCO, < RbHCO,
@) All

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

00 ononon

(1) Li*(aq) U0ICs*(aq) OILi*] 01000000000
O00IO00mOnm

(2) 0l00I0I0iEnoIOn oD T, Oono1oolom

(3)PbO, , SnO, LI OOOIO0OIOOIOTONOM

1 T
0m

IF, O0I00-F DOIOMO0Ioi0I0moomininmo

OO oonom

(1) sp3d2-s (2) sp3d?-2p

(3) sp3d-2p 4) p—p (UOUUIOD)

0 M A A M

000000000l oM

(1) CN~, CO (2) NO*, CO"

(3) CN", 0" @ C, 7% 0,7

000000 O Om 00000 conom

(1) we - 00000 0o

(2) B,C - 0001 0mmoo

(3) Mg,C, — 00000

(4) Be,C — OIOOO

0001 ononom

(1) CH, U 109°28' Ul6 O0IOIIIOO

(2) CIF, 0100000000 120° OI00

(3) NH, Ul107° 003 0000000

4 1F, 0090° U010 OO0 ONIDOO

1000000 001000000000 0o 00O o0 com O

Quoooooooom

(1) K,[CuCL,], KCN  (2) NH,OH, CaCO,
(3) KNO,, (NH,),S  (4) NaNO,, ZnCO,

pC1, 001107000107 01000 00107 00mdr ool
g .-

(1) s @) d, (d22 @)p,
[ooIpooiboogiom oonoooe:

(1) KI, (2) KNO,

(3) KHF, 4) 001

A T A
[II0i00OooinooDon:

(1) Na,CO, (2) MgCO,

(3) ZnCO, (4) PbCO,
0 O S

(1) BeSO, > MgSO, > CaSO,

(2) Be(OH), < Mg(OH), < Ca(OH),
(3) NaHCO, < KHCO, < RbHCO,
(4) U0

(1000 0000 000000 0O0 000 00000 )
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In which reaction hybridization of underlined
atom does not changed :-

(1) BF, + F - BE,-
(2) NH, + H* — NH,*

(3) BE + NH, — BF,. NH,

(4) SiF, + 2F — SiF?

Which can shows conductance :-
(I) PCI(Solid)

(2) CaCl,(Molten)

(3) AIC1,(Molten)

(4) NaCl(Solid)

Which shows lowest density :-

(1) Sc (2) Ti

3) Cu (4) La

Which element is common in Brass, Bronze and
gun metal :-

(1) Sn (2) Zn

3) Cu (4) All of these
Amphoteric oxide is :-

(1) NiO (2) ZnO

(3) CoO (4) FeO

Which ion gives colored solution :-

(1) Cu* (2) Zn*?

(3) Ag* (4) Fe*?

Which of the following oxide is acidic in
nature :-

(1) CrO (2) Cr,0,4

(3) CrO4 4) CrO,

Fe*?is present in :-
(A) Green vitriol
(C) Mohr salt

(1) A, B 2)A,C

3)B, C 4) A,B, C

Sodium reacts more vigorously than lithium

(B) Prussian blue

because

(1) It is a metal

(2) It has higher atomic mass

(3) It is more electronegative

(4) It is more electropositive

Magnesium burns in air to give —

(1) MgO (2) MgCO;,

(3) Mg:N, 4) (1) & (3) both

76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

I s i
Oonon .-

(1) BF, + F - BE,-
(2) NH, + H* — NH,*

(3) BF, + NH, — BF,. NH,
(4) SiF, + 2F — SiF 2
N A Y B
(1) pC1(0D)

(2) CaCL(I00)

(3) AICL,0I00)

(4) NaC1(J/0)
A O

(1) Sc (2) Ti
(3) Cu (4) La

0 0

(1) Sn (2) Zn

(3) Cu (4) 000000001
| ] e n"

(1) NiO (2) ZnO

(3) CoO (4) FeO

QMmN Ooa100monoaon -

(1) Cu* (2) Zn*2

(3) Ag* (4) Fet?
0”0 T
(1) CrO (2) Cr,0,

(3) CrO, (4) Cro,

Fe+2 DOM00IO000NOCH

(A) DIno00 (B) 0II00000

(¢) 0oom

() A, B (2) A, C
(3)B,C 4) A, B, C

1] m 0
mniin!

(1y DO00I000

(2) [0 000 00 OO0

(3) 0000001000000 0

(4) 000001000000 0
OO0 00 0 000m 0On0 G-

(1) MgO (2) MgCO,

(3) Mg:N, @ ()0 @) I
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Which will give dihydrogen with highest

purity?

(1) Electrolysis of pure water

(2) Electrolysis of saline water using Hg
electrode

(3) Electrolysis of Ba(OH), solution using Ni
electrode

(4) All

Which of the following reaction related to coal

gasification is :-

(1) Coal + O,——CO, + H,0

Solid gy aas

2) C +0,—CO,

Solid  gu aas

(3) C +H0——CO

gas gas

4 C +H,0——CO,

Solid  gpg aas

Change in oxidation state will be maximum for

which of the underlined atoms :-

(1) Fe _na,
(2) Cr0y —
(3) NH,NO, ——

(4) FeSO,(aq) + NO——

Which of the following is an example of
symmetrical H-bonding :-

() F........ HF (2)HF........ HF

(3) [Ni(dmg),] (4) (1) & (3) both

I+{ ion has strong tendency to associate with other
atom or molecules because :-

(1) Resemblance with alkali metals

(2) Resemblance with halogen

(3) Size of order of nucleas

4) All

86.

87.

88.

89.

90.

00 DodDaloorH, 0IiooonDoroooo

(1) IO DorOnoooI oorooo

(2) 0000000000000l ODoonronInog
Hg electrode [

(3) Ba(OH), (D000 O 000I00TD0I0TO00IN

electrode [
(4) UIT
J00I0I DI OINEO0T "Coal  gasification" [
Oommon o

(1) Coal + O,——CO, + H,0

Solid gy oas

2) S(}Z +0,—CO,

gas gas

3) € +H,0——CO

Solid gas gas

4 C +H,0——CO,

Solid  gag aas

O A A
000010 oo0moe.-

(1) Fe _na,
(2) Cr,0y —
(3) NH,NO, ——

(4) FeSO,(aq) + NO——>
O0000g-00000 0N 0000000 0er
() F........ HF (2)HF........ HF

(3) [Ni(dmg),] @) () & (3) U

11 1000100000000 0NO00 D0N00InInag
QOO0 oo -

(1) 000D 0o 0o

(2) Imyor oy ooom

(3) UIIDINTOmon o oo

(4) UIZ

C 00000 00000 LOO0 0000 0000 Co0oo Qi onoo doooo )
|
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Read the following four statement (a-d) and | 91. [UI000UONIOI (a-d) D000 OOD00IO0
answer as asked next to them:- 00noor oo orooo
(a) Locomotion is one of the significant features (a) D00100001 OI0000 00I0000I00mO00 0
of living beings i o _ .
: : _ (b) IODIIOINHODOoDIOoooooioda
(b) Streaming of protoplasm in the unicellular
organism is a simple form of locomotion biouioEAronod
(c) All locomotion are movements (c) O0INO0ONO0DOI0ON OO
(d) All movements are locomotions. (d) OIIDO00ID00I0dIoEd
How many of the above statements are correct? 0000ol D000 000 0oL 0000 o
(1) Four (2) Three (1) 00 (2) 00
(3) Two (4) One 3 [0 (4 00
Which of the following is the feature on the basis | 92, 1000101010000 OINIO0NI0DOC0OIONND
of which any chemical cannot consider as growth OiIoOlDooiiOmIOmoooUinoomooooroon
inhibitor 000000 0H-
(1) Responsiveness to wound & stress of biotoic (1) OOl UomaloOoo dodioidr tiol oo
& abiotic origin auooonom
(2) Dormancy promotion (2) 00000 O oo
(3) Abscission promotion (3) (0000000
(4) Delayin senescence (4) UII0007 00
The total number of bones together in the fore | 93,  N0NOO0NNDOO0IIIONOON0TIO0OOI0I:
limbs, ribs and vertebral column of human are? On000nIO0ononn O
(1) 80 (2) 100 (1) 80 (2) 100
(3) 110 (4) 140 (3) 110 (4) 140
PGR take part in :- 94. PGR [0I000NO0OIOIO0 OO0OLER
(1) Intrinsic control exclusively (1) 000I0IooOno0om
(2) Intrinsic, Intercellular control exclusively (2) 0000 DI0OIMO0I DoooGo oo
(3) Intrinsic intracellular control exclusively (3) Oi0nOl O Onmoonoonm ooo
(4) Intrinsic inter cellular control & assinsting of 4) UlDinUononUnoUionoomoroir oo o
few external factor also N O A
Identify the incorrectly matched pair. 95. U0O0IIDODOIOOIDOIOTooOIDoO
Pairs of skeletal parts Category QICI000 0noo Cn ooo aol
(I)|Femur and radius Appendicular (1)|DI0mOmOo0D IOmNO0D
skeleton -
(2)|Stapes and incus Ear ossicles (2)|000I0000m o000 AN
(3)|Skull and sternum Axial skeleton (3) (00000 oo oo goromomo
(4)|Clavicle and scapula Pelvic girdle 4 |00ID00I00I 0oL UrIoomn:
Select out the correct match :- 96. UlIII0UOILIOOOIONOO0:-
(1) | Auxin Break of dormancy (H| U000 OoioooomUoooa
(2) | Gibberellin | Delay in senescence ()| 0000000 | OIoomon oo
(3) | Cytokinin | Root hair formation (3)| Unoonoo | oolmoidmedn
(4) | Ethylene | Adventitious shoot formation (4)| 000000 aooiooIooronioom

Your Target éo to cecane Good Rank in Pre-Wedical 2015

117/37




97.

98.

99.

100.

18/37 |

2 JROTA (RAJASTHA

MAJOR TEST

ALLEN

CAREER INSTITUTE
RO JASTHAN

TARGET : PRE-MEDICAL 2013 (NEET-UG)

26-03-2013

Which of the following pairs of structures is
correctly matched with their correct description?

Structure Description

(1)[Shoulder joint and

elbow joint

Hinge joint

(2)|Tibia and fibula from parts of

knee joint

(3)]11™ and 12% pairs False ribs and

of ribes articulate indirectly

with sternum

Bones of cranium

(4)|Frontal and parietal

What will happen if seeds of winter varieties are
allow saw in spring :-

(1) No flowering

(2) Flowering occur but no seed setting
(3) Neither flowering nor seed setting
(4) Either (1) or (2)

Sprain is :-

(1) Streching of tendon

(2) Streching of ligament

(3) Streching of muscle

(4) Involuntary contraction in skeletal muscle

a

Which of the following is conclusion of given
diagram :-

(1) Tip of coleoptile is the site of transmittable
influence

(2) Tip is the photoperceptive structure for
phototaxis

(3) Stump is the site of transmittable influence

(4) Stump is the photopereptive structure for
photoropism

97.

98.

99.

100.

[mooIoibIoimortio0oo Lo omooubnooimt a
Oroonioonio

000 (00000
(O OO Unorooom Oor oo
miiui
(2| I0I00roonoon: OOnmoonooooo o
ottt
(31100000 12000000 - (Ooioomonds
00ioce QuionrIoooruoom
Oiooomod
(4| 000ID0I0IoOO Oaoon ommo:

00 A A
[mooooroIoonoma.-

(1) 0000000000

(2) DIDOIOOOoOoooa

(3) Di0ToooDior DmuIor oo
(4) DI OO (2)

Jo0iom

(1) 0000 OO

(2) IUDIQr OO

(3) D0 OIDImoIoon

(4) OO 0MmmAarogoo

[NIoI0I0IOmmiboooogitorooIormgn

i

(1) 0000t orOrrioooom oo 0o tno
00

(2) I OT0IoOiooyoIotr o0 oo oo oo ool
00

(3) 0000000y Unototioopoool o roooroa

(4) 0000000y DOMUIOODOIOo0UOMmDD OO oonddoa:
100
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101. In the given diagram, the bones of the right arm
is shown from front. It has certain mistakes in

labelling. Two of the wrongly labelled bones are:-

Clavicle J

|I' Scapula

humerus

" I: 7] Carpals
!
» '|:| Metacarpals

.-'i.Jﬂ;' ‘|r'E"J:| Phalanges
L)

(1) Radius and carpels

(2) Ulna and radius

(3) Humerus and radius

(4) Carpels and humerus
102. In the sequence of development process in plant
life which of the following is correct :-
(1) Plasmatic growth always results in to elongation
(2) Plasmatic growth always resultsion cell

division

(3) Maturation is the result of differentiation
(4) Mature cell never undergo senescence
103. The special contractile protein called actin is
found in :-
(1) Thick filaments of A-bonds
(2) Thin filaments of I-bonds
(3) Both thick and thin filaments
(4) Thick filaments of H-zone
104. Which of the following is an outcome of
redifferentiation :-
(1) Callus formation from leaf
(2) Interfascicular cambium
(3) Tumour formation

(4) Cork

101. JOI000IOTOIDOOOI O ODoIDIoomIDonood
OO OIODIIDODbnOodoooroimiIooo
OOIOiooonootrio

Clavicle 2

|I' Scapula

humerus

" I: 7] Carpals

1
. '|:| Metacarpals
AN

| f
.,~_.-"I' ijll | ,!..J:| Phalanges

W

(1) I000I00m oo

(2) 000000 O0OmOo

(3) U000000I oo

(4) 0000000INO0O0O

QotioIdbotrtomoooarbiobionoiomoo

Ul Oonoet

Q@ 0 O

62 SO0 R M
00

(3) D00COTomoomn U ooty

(4) DID0000DIMON OomioI oo dopooridiorot

[DOMIOOooordiUnoltrodbon oot

(1) A-0OCOIomIooond

(2) I-0mIoroooroooad

(3) DlOoooIIoodioorooaro

(4) H-UIOIO00roooad

[OooooI b Oimonoroo OUdnoioo Ot -
(1 D0CUIODCaToom

(2) Ul0000I00 Do

(3) 00O Dooom

4 tid

102.

103.

104.
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105. During muscle contraction :-
(1) Chemical energy is converted into the
electrical energy
(2) Electrical energy is converted into the
mechanical energy
(3) Chemical energy is converted into the
mechanical energy
(4) Mechanical energy is converted into the
chemical energy
106. Regarding to growth which of the following is
incorrect :-
(1) Itis most fundamental & conspicuous feature
of living beings
(2) It is metabolic process
(3) It occur at expense of energy
(4) One of the distinguishing feature of living
beings.
107. The below diagram represents the TS of Gut.
identify A, B, C and D :-

A= SRR, A
£ TN
5 2 {$$\
s Ny
iy, AR
i O
i o C
1\"'{ |‘|}1 i
it juJ,'n,‘ B
1y A
1y L
\Q\Q\\ /:.5,;1 D
W s
e
S % Lumen

(1) A - Serosa; B - Muscularis; C - Submucosa;
D - Mucosa

(2) A - Muscularis; B - Serosa; C - Submucosa;
D - Mucosa

(3) A - Serosa; B - Muscularis; C - Mucosa;
D - Submucosa

(4) A - Serosa; B - Submucosa; C - Muscularis;
D - Mucosa

108. In C, plants significant number of ATP &

NADPH + H* required for biosynthetic phase are

coming from :-

(1) Photophosphorylation in mesophyll
chloroplast

(2) Photophosphorylation in Bundle sheath
Chloroplast

(3) Respiration in mesophyll cell

(4) Non cyclic photophosphorylation of Bundle
sheath cells

105.

106.

107.

108.

OO0 Oimo
(1) IoDIoontmI0ontroioreoouroa

() W R O
(3) IDionIoororodlbUnrororoodroa

(4) D00 DUND0DoOIDONroromoodrIoa

(IoIOrUomroloooon t10imr dohrooioo ot
(1) D0DOOIUImoOIOrordooodoomonom

(2) DOI0TooCTooorom

(3) DOl0OOoolor ool omnom
(4) DOI00O0T O 0IoOMooonog

I0MDOI0OIdodinidooooirtumoooo0om
I0A, B, ¢ UllD UIU00OT00C:-

(1) A - I00HG B - 00000, ¢ - Doi0Oids
D - [00LE

(2) A - 00000, B - IOIOL ¢ - DOf0OiG
D - [00LE

(3) A - [000L; B - OOOODID; ¢ - I0000G
D - 000og!

4 A - 00 B - DOIOOIE ¢ - DoooDog,
D - [00LE

¢, U0 Omboormroloooo doootiATe O

NADPH + H+ Ul 00000 00001 0moamoo oy

00O on fmn it

(1) DDIOr ool oronodoanoro oo
dnOmnomo

(2) DDNOOIdNooROIooUer Ooonuamom

(3) LoooroImoionariooo

(4) DOI000D O00idianD 0 booor oot
dnOmnomo
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enzyme and product :-

Pepsin

(1) Small intestine : Proteins —==— Amino acids

(2) Stomach : Fats —BL 5 Micelles

(3) Duodenum : Triglycerides — Liese
Dioglycerides

o-Amylase

(4) Small intestine : Starch ———===— Maltose

Select out the incorrect statement about

photophosphorylation :-

(I) 10, production = Net consumption of 2H,O

(2) 10, production = Exposure of 8 photons
on PS-II

(3) 10, production = Excitements of 4 ¢~ from
PS-II

(4) 10, production = Excitement of 4e~ from
PS-1

In addition to neural control, hormones also

influence the :-

(1) Gastric secretions

(2) Intestinal secretions

(3) Muscular activities of different parts of

alimentary canal

4) All

Photochemical phase does not includes :-

(1) Photosplitting of water

(2) Formation of ATP & NADPH

(3) Release of O,

(4) Fixation of CO,

112.

113.

114.

" | PRE-MEDICAL: ACHIEVER (MAX, MAY, MAZ) & ENTHUSIAST COURSE || 26-03-2013
Match the columns and choose the correct | 109, O00I00IO0I OO0 OMIMO0NIOO0OIOIOONT
option :- 0I00-1 0I00-11

Column.1 Column-1f N 1 000
A| Salivary amylase I | Proteins o )
B | Bile Salts IT | Milk proteins B |[O0T000 1 OID 0T
C | Rennin III| Starch oF JINN 1 000
D | Pepsin IV| Lipids D | U100 v (000
(1) A-III, B-1V, C-1, D-1I (1) A-III, B-1V, C-1, D-II
(2) A-111, B-1V, C-11, D-1 (2) A-111, B-1V, C-11, D-1
(3) A-1V, B-III, C-II, D-1 (3) A-1V, B-III, C-II, D-I
(4) A-1, B-1I, C-11I, D-1V (4) A-1, B-11, C-111, D-1V
Which of the following transfer of e/H is passive:- | 110. [JIOIUI0OCOMIN e+ OOOIIOMOOI OO
(1) PS-I —> Pheophytion (1) PS-II — 10000100
(2) PS-I1 - FRS (2) PS-I1 > FRS
(3) Stromal H* — Lumon 3) U0 B+ — O0O0C
(4) Luminal H* — Stroma (4) U000 B — 00
Find out the incorrect sequence of substrate, | 111. [UOONOIOIONHOMINITOOIN00MOONO0OTI0000

() Dnomn oo —=2 pomon
(2) DOoimoon —— 000

(3) DOnmoomnoomo —22 omnoomo

) oonomomooon —<=2E0 . gomo
0OmO OO0 OO0 ooOnOOnoon
On00:-

(1) 10, D00 = 2H,0 OIOONO0
(2) 10, UI00I= ps-11 00J8 OIOIOIOMOM
(3) 10, U00= ps-11 OIOZN00O000I O O0O0]

(4) 10, U00= ps-1 OI0ZI00000I O O0O0]
OI0OnoopIT oo T ool Doonoma
(1) 00

(2) Lot
(3) LOmoooI Doom oo ooor broooo

(4) L0TDonoom

QOMIoONOnoiIirIirtIdomoooooo
(00U OmoL:

(1) 0010 00NO0oo

(2) ATP U NADPH U000

(3) o, LI

(4) co, UliriooT
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Which of the following statements is false ?

(1) The break down of most of biomacromolecules
occurs in duodenum.

(2) Simple substances (digested foods) are
absorbed in the jejunum and ileum.

(3) Very significant digestive acitivity occurs in
small intestine.

(4) Digested and absorbed substances are
passed on to the large intestine.

Regarding to absorption and action spectrum

which of the following is correct :-

(1) Absorption and action spectrum show one to

one overlap.

(2) Action of blue is highest while absorption of

Red is maximum

(3) Absorption depends on chemical nature of
pigment while action depends on suitability

of progression of ETC

(4) Absorption and action spectrum does not

show any kind of resemblance

Which of the following is not the function of large

intestine?

(1) Absorption of some water, minerals and certain
drugs.

(2) Nutrient absorption

(3) Secretion of mucus to lubricate faeces

(4) Temporary storage of faeces in rectum

During Oxidation of glucose how many

dehydrogenations occur in mitochondrial matrix:

(1) Ten (2) Six (3) Twelve (4) Eight

Read the following statement (a—d) and answer

as asked next to them :-

(a) The water we take in plays an important role
in metabolic processes and also prevents
dehydration of the body.

(b) Digestion is carried out by our digestive system
by mechanical and biochemical methods.

(c) Oral cavity has a number of teeth and a
muscular tongue

(d) All mammals including human beings forms
two act of teeth during their life

How many of the above statements are correct?

(1) Four (2) Two (3) Three (4) One

Formation of succinyl CoA from Isocitric acid is

the result of :-

(1) Two decarboxylation

(2) Two dehydrogenation

(3) Two decarboxylations and one oxidation

(4) Two decarboxylation and two oxidations

115.
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How many enzymes in the list given below work

in the Alkaline medium ?

Enterokinase, Chymotrypsin, Aminopeptidase,

Pepsin, Lactase, Rennin, Carboxypeptidase,

Nuclease.

(1) Six (2) Three (3) Four (4) Five

Which of the following is common in both alcoholic

fermentation and lactic acid fermentation

(1) Pyruvate decarboxylase

(2) Lactate dehydrogenase

(3) Reoxidation of NADH to NAD*

(4) Alcoholic dehydrogenase

Which one of the following items gives its correct

total number ?

(1) Types of diabetes — 3

(2) Cervical vertebrae in humans — 8

(3) Floating ribs in humans — 4

(4) Amino acids found in proteins — 16

Regarding to glycolysis which of the following

is incorrect :-

(1) Partial oxidation

(2) In anaerobes the only process of energy

(3) Oxidative decarboxylation

(4) Core respiration

Identify the correct and incorrect match about

respiratory volume and capacities and mark the

correct answer

i. Inspiratory capacity (IC) = Tidal Volume

+ Residual Volume
ii. Vital Capacity (VC) = Tidal Volume (TV)
+ Inspiratory Reserve

Volume (IRV) + Expiratory Reserve
Volume (ERV).

iii. Residual Volume (RV) = Vital Capacity
(VC) — Inspiratory Reserve Volume (IRV)

iv. Tidal Volume (TV) = Inspiratory Capacity
(IC) — Inspiratory Reserve Volume (IRV)

Options:

(1)(@) Incorrect, (i1) Incorrect,
(ii1) Incorrect,

(2) (1) Incorrect,
(ii1) Incorrect,

(3)(1) Correct,
(ii1) Incorrect,

(4) (1) Correct,
(ii1) Correct,

(iv) Correct
(i1) Correct,
(iv) Correct
(i1) Correct,
(iv) Correct
(i1) Incorrect,
(iv) Incorrect

121.
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123.
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125.
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0000
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(1) () 000, (i) 000
(i) 000 Giv) 00
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Respiration is the :-

(1) Amphibolism

(2) Production of usable energy currency

(3) Source of carbon skeletons for synthesis of
other useful compounds

(4) All the above

The oxygen - haemoglobin dissociation curve will

show a right shift in case of

(1) High pCO,

(2) High pO,

(3) Low temperature

(4) Less H* concentration

Select out the incorrect statement about deficiency

symptoms of essential elements :-

(1) These are morphological changes

(2) Deficiency symptoms vary from element to
element

(3) They can be over come by providing to plant

(4) The parts of the plants that show the
deficiency symptoms does not depends on
mobility of element in plant body

Match the terms given under Column ‘I’ with their

functions given under Column ‘II” and select the

answer from the options given below:

Column-I Column-II
A.|Lymphatic System |i. [Carries
oxygenated blood

B.[Pulmonary vein ii. |Immune Response
To drain back the

tissue fluid to the

C.|Thrombocytes iii.

circulatory system
D.|Lymphocytes iv.|Coagulation of

blood

(1) A-ii, B-i, C-iii, D-iv

(2) A-iii, B-i, C-iv, D-ii

(3) A-iii, B-i, C-iii, D-iv

(4) A-ii, B-i, C-iii, D-iv

Manganese is not associated with activation of
enzymes of which of the following process :-
(1) Photosynthesis

(2) Respiration

(3) Nitrogen Metabolism

(4) Flowering
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Match the abnormal conditions given in
Column-I with their explanations given in
Column-II and Choose the correct option

Column-I Column-I
A/ Glycosurea i. |Accumulation of
uric acid in joints
B.[Renal calculi ii. [Inflammation in
glomeruli
C.|Glomerular iii.| Mass of crystallised
nephritis salts within the
kidney
D.[Gout iv. | presence of
glucose in urine

(1) A, B-iii, C-ii, D-iv
(3) A-iv, B-iii, C-ii, D-i

(2) Aiii, B-ii, C-iv, D-i
(4) A-iv, B-ii, C-ii, D-i

In this given diagram A is significant because:

(1) It facilate root respiration

(2) It increase surface area of root

(3) It facilate root photosynthesis

(4) All of these

Which one of the following options is incorrect?

(1) Hinge joint — between Humerus and Pectoral
girdle

(2) Pivot joint — between atlas, axis and occipital
condyle

(3) Gliding joint — between the carpals

(4) Saddle joint — between carpel and metacarpals
of thumb

In hydroponics method which of the following is

not required :-

(1) Purified water

(2) Purified mineral salts

(3) Purified organic nutrient

(4) Small sized plant
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Which one of the following is not a disorder of

bone?

(1) Arthritis

(2) Osteoporosis

(3) Rickets

(4) Atherosclerosis

Movement of water in main stem xylem is mainly

governed by :-

(1) ¥ 2) Y, )Y, C ¥

Which one of the following statements is true:

(1) Head of humerus bone articulates with
acetabulum of pectoral girdle.

(2) Head of humerus bone articulates with glenoid
cavity of pectoral girdle.

(3) Head of humerus bone articulates with a cavity
called acetabulum of pelvic girdle.

(4) Head of humerus bone articulates with a
glenoid cavity of pelvic girdle.

What force does a plant use to move water

molecules into leaf parenchyma cells where they

are needed :-

(1) Evaporation tension

(2) Cohesive force

(3) Adhesive force

(4) Tensile strength

During swallowing of food which of the following

structures prevent the entering of food into the

glottis ?

(1) Semilunar Valve (2) Circular Muscular flap

(3) Cartilaginous flap (4) Circular sphincter

Capillarity is the ability to rise in thin tubes in

plants this ability is aided by :-

(1) Lignified walls of tracheary elements

(2) Small diameter of tracheary elements

(3) Root pressure

(4) Lateral pores in tracheary elements

Ventricular systole is due to the activity of :-

(1) Organ system (2) Organ

(3) Tissue 4) Cell

Which of the following is thought to be

responsible to force the inner walls into a crescent

shape :-

(1) Bulge out of outer walls of guard cells

(2) Radially oriented microfibrils

(3) Differential thickening of walls

(4) All the above
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Which one of the following is correct regarding

the excretion ?

(1) Large amount of water from renal filtrate is
reabsorbed in DCT and a less amount is
reabsorbed by PCT

(2) The descending limb of loop of Henle is
completely impermeable to NaCl salt.

(3) Malpighian corpuscle is found in medulla
region of kidney.

(4) The colour of urine is pale yellow and is
slightly alkaline in nautre.

The immediate cause of opening or closing of the
stomata is a change in :-

(1) Osmotic pressure of Guard cells

(2) Turgidity of Guard cells

(3) Turgidity of subsidiary cells

(4) pH of guard cells

The conducting part of respiratory tract does not
help in :-

(1) Transport the atmospheric air to the alveoli.
(2) Clear air from foreign particles

(3) Humidifie and bring the air to body temperature
(4) Diffusion of O, and CO, between blood and air

Pressure

Sucrose
solution

Membrance

(@) (b)

In this given diagram which of the following
condition will not set up equilibrium :-

(1) By applying external pressure in funnel
(2) By decreasing solute concentration in funnes
(3) By decreasing solute concentration in beaker

(4) By increasing solute concentration in beaker
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Which one of the following statement is
incorrect ?
(1) The Principle of countercurrent flow facilitates

efficient respiration in gills of fishes.

(2) In insects, circulating body fluids serve to

distribute oxygen to tissues.

(3) The residual air in lungs slightly decreases the

efficiency of respiration in mammals.

(4) The Presence of non-respiratory air sacs,

increase the efficiency of respiration in birds.

Regarding to membrane transport select out the

incorrect statement :-

(1) Protein channels of plasma membrane are not

strictly always open

(2) Porins are responsible for construction of

membrane channels

(3) Across plasma membrane water always move

through water channels
(4) Water can also move through lipid molecules

In which of the following nitrogenous waste

removal kidney does not play any significant role?
(1) Urea (2) Uric acid
(3) Ammonia (4) Amino acids

Select out the correct match about Nodule

formation :-

(1) Chemotactic agents = Bacteria
(2) Nod factor = Plant

(3) Infection thread = Plant

(4) Globin of Leg Hb = Bacteriods

Which substances are reabsorbed actively in

nephron ?

(1) Glucose, water

(2) Glucose, Na*

(3) Amino acids, Urea

(4) Na*, water
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! 152. 1000
® ®
| © ©
3- Phosphoglycerlc acid 3-OOn0IOmnooong 7
Pyruvw Acid | [ooponomo
./ ‘L
@+ CoO, O+ co,
C D A B C D
(1) | PGAL PEP C,H,OH | Lactic (1) | PGAL PEP C,H,0H | UMD
Acid gid
(2) | PGAL PEP Lactic [C,H,OH (2) | PGAL PEP 0t  |c,H,0H
Acid gid
(3) | G-6-P |2-PGA | CHOH | Lactic (3) | G-6-P [2-PGA | C,H,OH | IO
Acid HiN
(4) | F-6-P PEP Lactic [C,H,OH (4) | F-6-P PEP 0t |c,H,0H
Acid gid
153. Which of the following groups of animals are | 153. [DIUIOIOI0OI00N O DM 000000000
ammonotelic in nature ? Oi0DDorD
(1) Many bony fishes, amphibians, Insects (1) HoOIOrRe o0 B oD o o
(2) Marine fishes, amphibians, aquatic insects (2) DO0ToHInOm Aro0mnomIon
(3) Mammals, Birds, Reptiles (3) DO Oz ood
(4) Many bony fishes, aquatic amphibians, (4) D0OIOM0ION00I00N 0OI01 000000 000
Aquatic insects i
154. Select out the incorrect match regarding to | 154. UUIDIN00OIO0ODOIOIOINIIHIDDIDTDODIOL
enzyme and their cofactor :- 0000 Omono: -
(1) Carboxypeptidase = Zn (1) 0I0000000000= Zn
(2) Catalase = Haem (2) 0000 =00
(3) Alcoholic dehydrogenase = Ca** (3) U0OIIOOIIUODOTIO0OD = cat
(4) Pyruvate dehydrogenase= Mg** (4) DIO0O0DTOUOOTO000= Mg
155. An artificial pacemaker is implanted | 155. OOIOOOIDO0OTOTIOOT OCOONICOO0 L0000

subcutaneous and connected to the heart in

patients :-

(1) having 90% blockage in the three main

coronary arteries
(2) Having a very high blood pressure
(3) With irregularity in the heart rhythm

(4) Suffering from arteriosclerosis

] A A

[Ooroe
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00 0m
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C

Which of the following is not correct match :-
(1) Exclusive non cyclic process = A

(2) Exclusive side of Cyclic process = B

(3) Both cyclic a non cyclic = A

(4) Biosynthesis of sucrose = D

When there is a sudden loss of blood from the
body, the organ which supplies blood is ?

(1) Heart (2) Lung

(3) spleen (4) Liver

P RN

NG "I,r;‘
‘... SRy
f 3 = "-_.‘ -

For given diagram select the incorrect option:

(1) () path of water and mineral absorption can
be achieve in uninterrupted manner

2) path can not be achieve in uninterrupted
manner

(3) Path is most rapid and not affected by
metabolic inhibitors

(4) Path (3) is fast up to inner cortical cells and
slow from endodermis onwards

Which of the following changes can occur in
response to increased Angiotensin-II level ?

(1) Decrease in GFR
(2) Inhibition of aldosterone

(3) Decrease in BCOP

(4) Increase in the glomerular blood pressure
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Which of the following criterion does not assist

to determine essentiality of minerals :-

(1) It's requirement should be absolute
(2) It's requirement should be non specific

(3) It should be directly involved in metabolism
(4) On short supply of it plant should not be
capable to complete their life cycle

Which statements is incorrect ?

(1) Volume of air remaining in the lungs after a
normal breathing is 2300 ml

(2) Inspiration can occur if the pressure within the
lungs is less than atmospheric pressure

(3)A healthy man can inspire or expire
approximately 6000 to 8000 ml of air per
minute

(4) When the Pcozis high and Pozis low as in the
alveoli, dissociation of CO, from carbamino-

haemoglobin takes place

Which of the following is the object of given
technique :-

(1) Identification of essential elements
(2) Discovery of deficiency symptoms
(3) Economic utilisation of minerals

(4) Both (1) & (2)
Partial pressure of carbon dioxide in Alveoli,

atmospheric air and tissues will be :-
(1) 0.3, 40, 45 (2) 40, 0.3, 45

(3) 0.3, 104, 28 (4) 40, 0.3, 28
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164. Given below is a sectional view of adrenal gland,
mark the option with correct informations about
the structures labelled as A and B in the same ?

Adrenal gland

Kidney

A B

(1) | Secretes - Secretes corticoides

catecholamines

(2) | Regulated by - Regulated by our

pituitary gland will power

(3) | Secretes steroid - Secretes hormones of

hormones fight and flight

(4) | Ectodermal in
origin

- Mesodermal in origin

164. [I0IDITODOIOITI DI O0000CDIOIDOD 000 0mag
A 00IB OI00N0IDOIODOOIONIOIONIDIOOnd
groma?

Adrenal gland

A B
(1) | Ommrooio - Qloomporonoonm
gnoomao
(2) | [00TI00T - JOr doOnOroooto
[imioamo oo
(3) | DOTooooooan - DOI0oItmponDim
Jooodl gnoamo
(4) | JOIrotdotond (iooonotoog

165. Which of the following helps in current flow on
the inner surface of an axon from site-A to

site-B as shown in the figure given below ?

= ++
+ + + + + +

Al
(1) Negatively charged proteins
(2) Nissl's granules

(3) Neurofibrils

(4) Neurilemma

[I00D0IDoIOmon DI ooom it oimuoud
{larorOmoorrdooiiromiA frddn ond
OOI00I QT 0o 000002
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Read the following five statements (A-E) and

answer as asked next to them ?

[A] Secretin acts on the exocrine pancreas and
stimulates secretion of water and bicarbonate
ions

[B] Erythropoietin is produced in liver and
stimulates formation of RBC's in bone
marrow

[C] When BP is increased the atrial wall of heart
secretes a peptide hormone "ANF" that
causes dilation of blood vessels

[D] Insulin acts mainly on hepatocytes and
adipocytes, and inhibits cellular glucose
utilisation and glycogenolysis in target cells.

[E] Thymus enlarges in size with age and due to
increased production of thymosins, immune
responses become strong in old persons

Which of the above statements are not correct:-

(I) Band C (2) D and E

3)B, D and E (4)B, C and E

Mark the incorrect one regarding the structures of

a nerve cell ?

(1) Dendrites - short and branched fibres which
contains receptor proteins on their surface

(2) Nissl's granules - found in cyton, dendrites and
axon part of neurons

(3) Axon - Functional part of neuron that transmit
impulses away from the cyton

(4) Schwann cell - Synthesises myelin sheath
around axons in spinal and cranial nerves.

How many hormones in the list given below

interacts with intracellular receptors and mostly

regulate gene expression.

Thyroid hormone, Epinephrine, GnRH, FSH,

Prolactin, Cortisol, Aldosterone, Glucagon,

Testosterone, Estradiol, Progesterone.

(1) Seven (2) Six

(3) Four (4) Five

All of the following show faster conduction of

nerve impulses except one ?

(1) Myelinated fibres than non-myelinated fibres

(2) Electrical synapses than chemical synapses

(3) Thick nerve fibre than thin nerve fibre

(4) Polysynaptic arch than monosynaptic arch
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170. Which of the following chemical acts as second
mesenger for the hormones which interacts with
membrance-bound receptors of target cell?

(I) CAmp and CGmp (2) IP, and DG

(3) Ca?* ions (4) All of these
171. Select the option in which the part of brain is not

correctly matched with its function ?

(1) Association area - Responsible for complex
functions like intersensory association,

memory and communication.

(2) Thalamus - Acts as relay centre of brain and

co-ordinates sensory and motor signalling.

(3) Hippocampus - Transformation of short term

memory into long term memory.

(4) Limbic system - Regulates sexual behaviour,
emotions and motivation alone, without any

help of other part of brain.

172. Which of the following is not a function of

glucocorticoides, particularly cortisol ?

(1) Stimulate gluconeogenesis, lipolysis and
proteolysis

(2) Involved in maintaining the cardio-vascular
system as well as the kidney function

(3) produces anti inflamatory reaction and

suppresses the immune response
(4) Suppresses production of WBCs and RBCs

173. Given below is a diagrammatic presentation of a
knee-jerk reflex, which one of the following
structure (A to F) is not functionally involved in

this monosynaptic reflex ?

B Dorsal root
ganglion

e
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Which of the following is not a pair of antagonistic

hormones ?

(1) Thyrocalcitonin and PTH

(2) Insulin and glucagon

(3) Somatostatin and growth hormone releasing
hormone

(4) Adrenaline and Nor-adrenaline

Which of followings are the changes occuring in

the axon immediately. After an optimum stimulus

is applied on its one end (site A) ?

a - The membrane at site -A becomes freely
permeable to Na®

b - Opening of Na® VGC
¢ - Opening of K® VGC
d - The Rapid influx of Na®

e - The polarity of the membrane at site-A is
reversed

(1) a and b only (2) a,b and ¢
(3)a,b,dand e (4)a,b,cand e

Which of the following hormone is responsible for
maintaining normal rhythms of sleep-wake cycle
and also influences metabolism, menstrual cycle
and our defense capability ?

(1) Somatostatin of hypothalamus

(2) Adrenaline of adrenal gland

(3) Melatonin of pineal gland

(4) Thymosin of thymus

Given below is figure showing sectional view of
cochlea of your internal ear, with structures
labelled as A, B, C, D, E and F ?

Which one among the above structure acts as
centre of hearing and contains hair cells as
auditory receptors.
1A
3)D

2)C
(4)D and F
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178. Consider the following facts ? 178. [DI0IOIDOIOOIONIO0IIOWo 2

(i) Non-nutrient chemicals (i) O0monooo

(if) Acts as intercellular messengers (i) D0000DOI0I000000I0I0 DI0I0I0I000II0

(ii1) Produced in trace amount

(iv) Produced by ductloss glands (i) 0001000000000 O

(v) Transported to a distantly located target organ (iv) 0000001 DInum oo oonoo
through blood (v) 0000000000000 0000 Coloanononol Moo mia
(vi) Can be reused in metabolie reactions like (vi)) D000 O 000 000D IO O O
CZYINES oo
(vii) Complex protein molecules with high
molecular weight. (vii) 0000O000O00N0 DO o000 oo
How many of the above facts are correct for a O W
hormone molecule :- OO0 Ok
(1) Three (2) Four (1) U0 (2) O
(3) Five (4) Six 3) L0 4) 00

179. Given below are some terms related with our | 179. UIOI0OMIOTNOIO0 OO0 OOI0I0TI0CI DOCC

- (D01 O Do oo

a
- Day light vision b - 000000

- Photopic vision ¢ - 01000

d - [00IoOio00mo
e - [0IOOINNO

vision ?

a
b

¢ - Colour vision
d - Twilight vision
e

- Scotopic vision

How many of them are correct for rod cells :- O 00 A Y
(1) Two (2) Three () I (2) 00
(3) Four (4) All five 3) 01 @ D0Oo
180. Which of the following is visible, coloured and | 180. [HI0I0IOICIIDONIOIDIONIOONOOIOI0OIDIO0NO
opaque portion of our eye ? 0onoomooonooonno&@
(1) Sclera (2) Cornea (1) (00000000 0Ran -+ (2) OO0
(3) Iris (4) Lens (3) OO 4) U
ro T = J' ________ N\
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